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3. —71135 A0 = AL nT H A7

@ 870 @ 970 ® 1070 (@)117}1 ® 1274

-7, =6, =5, =4, =3, -2, -1, 0, 1, 2, 3 22 117}







1\ 1,4 21 3 4 o o
(3)+2+3 =4, % +3+7 5_Bafq1,A+BA
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@ 276 2 6 ° vjolTh.

® 364 = 7 9 HjolTt.
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LA Fe AL
® 2 @)3 ® 5 @ 7 ® 35
P49 A%t 34 x o4
(A+1)x(J+1) =5x2=10 FX (9+1) =10 ©] & 4 3y}
Z 7t E e e 3T HRA0|L ALY § EE 3P
ojtt,

J8B= oI5| g2




Al ¥ o] Zo]7} ZH2F 66 m, 84m, 78m 1 A2y W ko]

o] Bato] 714ztel 2 el A4S 7hA 0 2 Fhis al

Al BFol= HIEA] JFURE *‘OM ot 7o) =2 5 Qe
AA otelal & o, FUFE A4c F OIFF FH|dof A

O 6 1% ® 18 1% ® 24 1%

66, 84, 78 o] FHjFoFr= 6 olB=R

RO =

(66 +6) + (84 +6) + (78 + 6) = 11 + 14+ 13
=38 (1%)




zé—xyoﬂtﬂo]-oqx_,]zq 7+e 6, y ol

o0 @1 @0 @ 5

B

x=46,-6, y=+9,-90| &
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La+b=15+(-15) = -




10. o5 Ago Arder $2 A27

D (1) = (=6) =7 @ (45)-(=5)=0
® 0= (=4) =0 @) (+6) - (+4) =2
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